
MT 112, Quiz #3, Spring 2020  Name _____________________________________________ 
 
Instructions: Show all work. Answers without work can only be graded all or nothing.  Partial credit is 
available only when work is shown. 
 

1. Suppose that the Universal set is the set of all letters (of a single case) in the English alphabet.  
And suppose that set 𝐴 = {𝑥|𝑥 𝑖𝑠 𝑎 𝑙𝑒𝑡𝑡𝑒𝑟 𝑖𝑛 𝑡ℎ𝑒 𝑤𝑜𝑟𝑑 𝑀𝑖𝑠𝑠𝑖𝑠𝑠𝑖𝑝𝑝𝑖} and that set 𝐵 =
{𝑥|𝑥 𝑖𝑠 𝑎 𝑙𝑒𝑡𝑡𝑒𝑟 𝑖𝑛 𝑡ℎ𝑒 𝑤𝑜𝑟𝑑𝑠 𝑁𝑜𝑟𝑡ℎ 𝐷𝑎𝑘𝑜𝑡𝑎}.  If the set described is empty use one of the 
appropriate notations for the empty set. 
a. List the elements of set A 

 
{𝑀, 𝐼, 𝑆, 𝑃} 

 
b. List the elements of set B 

 
{𝑁, 𝑂, 𝑅, 𝑇, 𝐻, 𝐷, 𝐴, 𝐾} 

 
c. List the elements of 𝐴 ∪ 𝐵 

 
{𝐴, 𝐷, 𝐻, 𝐼, 𝐾, 𝑀, 𝑁, 𝑂, 𝑃, 𝑅, 𝑆, 𝑇} 

 
 

d. List the elements of 𝐴 ∩ 𝐵 
 
 

∅ 𝑜𝑟 { } 
 

e. List the elements of 𝐵′ 𝑜𝑟 (𝐵𝑐) 
 

{𝐵, 𝐶, 𝐸, 𝐹, 𝐺, 𝐼, 𝐽, 𝐿, 𝑀, 𝑃, 𝑄, 𝑆, 𝑈, 𝑉, 𝑊, 𝑋, 𝑌, 𝑍} 
 
 

f. Find |𝐵′| = 𝑛(𝐵′) 
 

18 
 
 

2. Use a Venn diagram to illustrate each of the following situations. 
a. 𝐵 ⊂ 𝐴 

 
 

 
 
 

b. 𝐴′ ∩ 𝐵′   


